oo

Math 1600B Linear Algebra Page 1 of 2 Quiz 2, 20 minutes

Name: ID Number:
(Please Print)

1. For each statement below, determine whether the given statement is TRUE (that is, always
true), or FALSE (that is, always false). Provide a short justification for your response.

22 3 (a) For any nonzero vectors Ny, No € R3, Ny x Ny is orthogonal to Ni + Na.
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2 . (b) The planes in R? with equations 2z — 5y + 3z = 5 and 6z — 15y + 9z = 23, respectively,
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are parallel.
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3 2. Find a vector equation for the line in R3 that passes through [1, —1,4] and is orthogonal

marks to both (2,3, —1] and [-1,2,1].

X=9% ¢t A Lor teR.
N -
A = {2/3)—\3& [1—[,2

= Ly -1,
) -
So %= [o,4, 47+ s 4,3]
3 3. Solve the following system of linear equations:
marks
2z -3y =3
dr 4+ 3y =8
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